Selection Kdark = oclcfg’;’k Kdark = ocggill: Kdark = ucgggrt
pr(J12) > 200GeV, 11(J12) < 24 84.0 89.9 89.3
Rt > 0.15 427 40.2 45.6
An(J1,]2) < 15 74.6 77.0 78.7
mr > 1.5TeV 93.4 91.1 86.4
N, =0 97.9 96.5 95.7
Ne=0 99.7 99.4 99.3
piss filters 99.8 99.8 99.8
AR(j1 2, Cnonfunctional) > 0.1 94.9 95.0 95.5
veto f,(j1) > 0.7 & pr(j1) > 1.0 TeV 99.2 99.6 99.4
Apmin < 0.8 85.7 86.3 77.1
Efficiency [%] 20 20 19
high-Rt 60.3 46.7 50.0
low-Rt 39.7 53.3 50.0
high-SV]2 30.2 35.5 27.8

low-SV]2 19.5 41.7 27.7



